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dc : (i) »Rt B39-Uzdt © oEies U 3 fem-az/lug-ay @@ we Ry fen-ds/Qug-aF
054/C #ga &ow od t |

(i) Esizdt 8¢ of fom @ U8 farw & By BF fy fom By oeies Aoz 30 08 o
w3 3lF gHeT IS |

(iii) E35zd o wat Ua/ld 83 3 gve I8 o3 918 YRS/YRST T HaEiaE dt
3T wear |

(iv) YAs U39 e o8 27 yus w3 I gor 95 | Rt yus st a5 |

v IN-@ ys & 1 35 Jo7 | W € g YRS IS | “

vi) 9 YIS 8 6 F 12 B2 637 yaa-l T8 JoF 2 ¥ar € yHs Is |

(vii) -8 yHs 8. 13 3 21 8¢ 639 yao-ll T8 Jod 3 wart € yHs I5 |

(i) IR YFE & 22 F 24 T9T 3 At @ iz wag B2 O B Y 5 |

(x) 990 Y& & 25 3° 27, gad 5 war € B4 G397 @8 yHS I |

¢ s 57 e mie 35 3 at 9 ot RS ot wg e T @ € yEel @ vl
¢ R yms, s Wt @ @ ymst w3 U vlat @ mt s st g vegat 9 ot
gt 3 | uditmraet & yre U3 e 3 € yReT Y adt fa yws F9e J |

i) drEt w3 [ e yrs vt ypst T weee 95 | fa8fa neew weHs 3
wafss der 3 femse! faRt sow o ARt e et e yas & o Aat Wi
e |
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(2)

- 5x1=5
J9 yEs g W e 9 -
1. W2 Meloidogyne incognita3ag ¥ gfenit Ewit w3t & A= o & w3
(i) U o 3ug o dU 33 Uer 99" 9
(ii) UR owior 3ug € 37 &9 aff & ads geer 3
(iii) #gt e uet v AvSE § welf e 9

(iv) Budaz &9 adt & &t 1
2. I fafim B9 faod o5 § ‘Todt @ FeF o wier d

(i) &SRS (i) s T T s

(iii) fewmar d91s (iv) uast we 1
3.  TET v wfdsht ywee soer I feftmr &9 faw ot Jer @ ?

(i) Hdar (i) es

(i) St (v) Guias RS 3t oot 1

Hr

rivfter § ae & & Was T fagr wer 3 fafa
(i) feo &8st yrss sdt a9 Aaer

(i) feo @ 4t fegwe s@er 3

(iii) »fer e mdftl A3 At g Sfewr wier &

(iv) feo g e 3 '5 |
4, iy yuz ot At 3 _ i

(i) Nicotiana tabacum 3" (ii) Papaver somniferum 3

(iii) Cannabis sativa 3’ (iv) Erythroxylum coca3 1

A

Ura 15 To@e st Uer yaes § o faor mier 3 ?

(i) wleGesdtfeans (i) yosHadt (efete ) -

(iii) Jge IBYT (iv) USiede Iu9d I

5. WEuna Sivc e 3adie Rumme g o dtaw d ?
(i) sz 7 fg 3t we 8 & ym W g '3 o Faer &
(i) vEws 7 et 3t ws € § i Hez A'E e ows a9 f&o wee geer 3
(iii) ewre 7 3t s § T Sudy gafamt § 935 T AW FoeT 9
(iv) €udas wa 1
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10.
11.
12.

13.

14.
15.

16.

XY,

(3)

=) 7x2=14
TT YHS € et BT D
Ht wfog #adidmr Bacillus thuringiensis ©vmar Ter 3T wier & (3 foo wfog ye Sadtdr
& wat W | wifior fag 3 ? 2
oS & Wi w3 e Y west o ghiar 9 Ay i seT ad | 2
gaa'g € ¥e3d Tt Bus o3 39 wIE | 2
# |
Yt gl 99
RuaHTes & gaarent €9 guisge e ftyfaforr § ................. afIe T8 w3 fegt gagent §
HIOEHed S8t 3 g3 St yfaforr § ..o afde Is | 2
35 3 v Yo et ifeat @ TR § o fag: gfewr ? 2
HooT € Tom Ty ffuiz ot 3 ? 2
TS w3 TS yFt S Y A9 2 € ge3 O | 2
adrs ot g5 ? a Gegae fef | 2
g€ 9x3=27
T YFs 35 et er 3 -
s B g woert # 85 & T 9os Bt Tedt Wik s s Rt w3 mae ST e
&t g3 fay f&o faa | 3
s fegm ot 3 ? WtEAets Sfidw &t wre & @egoe f =93 99 9T md | 3
IR T Haue foart fson ot 3 ? fenrfmr g 1 . 3
Hr
Ay 39 fog .
(i) €sYga ufseasa
(i) IHE wafer fene 3
mHEhdt T yar e ot @ ? I19e wemEr w fagar et Wi dhdt st mdftme e wier 3 ?
femeht wozzr ot & ? 1+1+1

WHARS 3 o g2 3 ? I5 58 gensdt fearat args Uer 9T T8 #HIRS JaT € a5 OF |
(i) 213 Fegse &t 35 FJegsas
(i) A X < =03 anft & iget @ XXY) 3
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18. wgewet 93 &t yfasst 3 99ur 99 |
19. ¥a I 3T St e I ? g Quags ol |
Gl
T3t Sougar iz T3 IR w3 AHTE |
20. WU wft ume 3 ot 3w 3 ? feo Wt fieeft fée foRt Wdzewes 9 ?
21. #feg et &t o5 ? onfeed uet & dfew vt § 203 3o faf fidt w9 °
gral-H
T YRS s Wt w7 J
22. e 138 &9 agus ¥ag e fiz3g g h |
23, f¥3 92 fifse & fimrs o5 28 w3 I ot yet & @59 e |

@) fon fizg Ry ot wardonr famr 3 ?
(w) fom fd39 €8 391 A, B,Cw3 D #faz a9 |
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24. T3 38 39 § s &% 28 w2 s Y ymet & §59 el -

@) foz9 &9 Tant favdt v & ©F |

) fem fanret ©@ Traa Bvie w3 8@ © IJdlfom B9 TR | 3
IO 3x5=15
BERICCRICEC U= U

25. wdteg T3east yugm ot 9 ? fed ordizeHivg € Gegds 89 98 wdflee Tewadt veem
T Sy U € TIBE 79 | ' 2+3

T
Afea fefgazr o wazzr ¥7 | 5
26. T gaHa wed € T e feam I 30w ot g 3 ? et wand wew @ feaw o
Yfafon & Tgae a3 | €39 o wet dar fifzg & 5@ | 1+4

| At
Hig Jag ot & ? wina Jag &t ggrr3 et 292 AR HEE T oW O | vEd oz e
HIEdt dag € Wu ug=i 'g fenrfim 33 | 1+1+3
27. yFifsuz & ufgemz 99 | gaditfea A g RS ¥ag € fam uam &9 feo faforr 31 3 7
yFtsuz & fedt T v Tgss ad | . 14143

At
@ Areu ygre ot 3 ? 2
() e feam € Wy 9 gu fefomrfss yrat e | 3
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(Hindi Version) :
e (i) YA FIR-GRIH B JET 9T 9T [Q9F-FIEATC-FIE A7 @F F A Ave-#s 054/C g7
g 1
(i) FR-gRaer A7 & 5% y© [t 3@ d fF 399 2geT afey 30 y= & o7 wdt aw § &)
(iii) FO-gfw F @l 613 T4 §e/98] $ GE & f5d T4 99T/9% F qediET T8 A ai
(iv) 597 @3 7 %o 27 997 v G A7 &1 T 597 g &1
(v W-H5e7 d. 175 959% 1 5% & Fghawdy 997 21
(vi) PG 597 d. 6 & 12 59% g1 @ 0T 2 SF ard g7 £
(vii) - 597 /. 13 @ 21 509% 51 7§ 3909 3 S ard 59 8
(viii) W9 997 §. 22 @ 24 509% [ e &y w09 3 o ar 997 &1
(x) MM-S597 §. 25 @27 59% 5 3wt & & awdg 597 £

&) 997 @ 7 70 7@ 7 F3 [T 78 [ T & T CF 67F 7 3 §el, § 6% P 0F 4o, 1T dAH
g gedt aRr 9rg o A gt /T g9 7 G Ay BT o & 1 g @ ge v § Ry & gt
7 8 #¢ @& 937 FC 21

(xi) T @ B F g e @ get & Srgare &1 i argare SrgHe gt eIk i & gaiig e
57 3 Refy F 3135 & g7 F G T A

-5 5x1=5
TRF 99 0 S 2

1. 312 Meloidogyne incognita T Qe &1 781 H GHd BT

(i) ey 9 Fr AR ToTA 8

(ii) 9% g darg B I H FH B 2

(iii) T3t # ST SFEINGOT £ B FH HA & )

(iv) I & | g T 1
2. Trafofes § & 6w aw & ‘gt I8 3 9%’ & &9 F S o & 7

(i) g (ii) o 3t g9

(iii) Farm o (iv) wiae i

3. EEy 3 oIS Yo W A R 7
(i) Ha
(i) ogeE
(iii) SR
(iv) S & 4 #5878 E ]
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9.

10.

(7)

IyTaT B ST FT AT & il

(i) 8 ciffres aoTe 21 HT Gl

(i) T& TETH TS & Jor Fiar 8

(iii) ey & R @t Hart & o Rt R o 2

(iv) 7 g g 2 1

G W< R St @

(i) Nicotiana tabacum 9 (ii) Papaver somniferum d

(iii) Cannabis sativa & (iv) Erythroxylum cocad 1
UE|

IV e Y G B FoIQ Gl B O T el A © 7

(i) SEgke (i)  qofsraan ()

(iii) o1 Had (iv) &Y HaH Y

T: AT ST T o d9eT T & 39 &

(i) TS it Rt s e & SiTAT I e a9 &
(i) wnieTe s o& Shifaa B § AR Some @ @i $T g6 &
(iii) oI S SIAT-SHeTT SICAT THS WA WAl B

(iv) i '. 1
- | 7x2=14

T 95T Y o T B :

& & R, ooy AR gRPTRR 2 R 2 & AR 7 R o] 3 8 A Qe i  ? 2

T T e we  wfeenal o) gfte ¢ @A § o #5 ) 2

PRI 21 T % (o0 U ATifee ST &I | 2
R L

Rt &I Y

SPRTIIST &t EbT] o TR &6l AR & ... 00 I © | JFRIOPSTT 5 14 ATCHRIST 200 180 3 1% 201 wafeban

B cvverseeriersnss TOT B 1 2

et 3 o T & R e 3 % 0 e 6 o 7 2

QI % JAT8 g R e ? 2
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11.

12.

13.
14.

15.

16.

17.

18.

19.

20.

21.

22.

(8)

Hira ofk P wftren & e offR @ @ g 2

Prrerr=oTeT & & 7 O SRreTr & | 2
R 9x3=27

3% U9 S 37 H 8

Ao e 3 RN AT P afew F% 3o T O ge sl by A § W8 Rl 3

ST FerfRbee o 2 ? QeI SR F it & SRR & I9A e of fafekeEr & avi wt 3

e 1 7t orget R w4 @ 7 3
o

waa ¥ o -

(i) 6 Fae

(ii) e wfFa soRne 3

MTP & ferreer &% | Ttereen i e omafer i MTP & fe g 9 o1 @ 7 g0 v |18 7 3

ST ) IR Y | orgA Hedl Pl sramradel  aROrEEy 8 ard s dmidr &1 A

fert 1
(1) 219 g 3t BrporgE |
(if) 7orgE X it arfaRem ufafefy & gufefs (smfd XXY) |

SR IS i wHfT 9T 7= & |
e F  F1 R ¥ ? O R |

Bri-amar! R bt T T e |

YR O & 7 S 2 ? g8 g e A B ey 8 7

Ot I T § ? S IR B i S i o 1 st e o @ 2
-4

ST 99 A o 1 2 :

St ¥ e 9% H ARG FrEw |

© 054/C-SS

3x3=9

3
[See 9th page



(9)
23. RUT ARE & SEEIET B S Fr=fiEn geHl @ 3a
g Bt

(%) w7 IRG T A 3 ? 1
(@) 30 omEd 9 A, B, C ok D#i d5d %1 | 4xYp=2
24, =& v oulr Bt we @ 3 v Feafefed gel @ g

(®) 70 smtE ¥ Remg 7g 7 #it @9 H |
(@) 70 dHH 3 TG Tl ) G 3 &7 5 an § [ | 3
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& 3x5=15
Tl U9 Ot o & 2

25. iRt SIgHA 741 8 7 O SIS J ST H AT aleht TR S @ 4 £ areh fafvm

EATS! 0 FX | 2+3
G
Wi faferean % wed F 2 ? 5
26. T JHBIGHRE B QAT A @ ST 4 e ¢ ¢ SUgE SR 1 qerddl 4 A Tewge ()
% fareprer 1 e &1 | 1+4
e
wifees- e = 7T & ? Aft-a St qeel geeT % R SR 9 1 A FAEg | 5 A # aiftes-a a5 6 o
gETIe % §R 7§ | | 1+1+3
27, rerE AR &Y | gHRAeE e 95 3 69 T  Srera 2 8 7 S8 S B o & a wt |
1+1+43
e
(®) e g e 7 . 2
(@) e o1 7 S 9 & g |

(English Version) _
Note : (i) You must write the subject-code/paper-code.  054/C in the box provided on the title
page of your answer-book.

(i) Make sure that the answer-book contains 30 pages (including title page) and are

properly serialed as soon as you receive if.

(iii) Question/s attempted after leaving blank page/s in the answer-book would not he

evaluated.

(iv) There are a total of 27 questions and five parts in the question paper. All questions

are compulsory.
(v) Part-A contains question numbers I to 5, multiple choice questions of one mark each.

(vi) Part-B contains question numbers 6 to 12, short answer type I questions of two marks

each.
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(vii)

(viii)

(ix)

)

(xi)

(11°)

Part—C contains question numbers 13 to 21, short answer type II questions of three
marks each.
Part-D contains question number 22 to 24, diagram/illustration based short answer
type questions of three marks each.
Part—E contains question numbers 25 to 27 long answer type questions of five marks
each.
There is no overall choice in the question paper. However, internal choices are provided
in two questions of one mark, one question of two marks, two questions of three marks
and all three questions of five marks. An examinee has to attempt any one of the
questions out of the two given in the question paper.
Punjabi and Hindi versions of questions are translations of English version.
Since translation is based on approximations, so in the case of any confusion consider
English version to be correct,

Part-A 5%1=5

Each question carries one mark :

Nematode Meloidogyne incognita infects the roots of tobacco plants and causes

(a) Anincreased production oftobacco plant

(b) Areductioninyield oftobacco by plant

(c) Alossofwaterabsorbing capacity ofroots

(d) Noneoftheabove ! 1
Which of the following forests is known as ‘lungs of the planet” ?

(a) Tundra forest | (b) TheAmazonrain forest

(c) Tiaga forest (d) EasternGhats 1
Asexual reproduction structure ofhydra is

(a) Buds (b) Gemmules

(c) Conidia (d) Noneoftheabove 1

or

Amoebd is called Immortal because

(a)
(b)

(©)

- (d)

It cannot reproduce sexually
Itreproduce by binary fission

The body of parent is distributed among the offspring

It is microscopic 1
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(12)

4.  Opiumisobtained from

(a) Nicotiana tabacum (b) Papaver somniferum
(¢) Cannabis sativa (d) Erythroxylum coca 1
or

Breeding of crops to increase its nutritional value is called

(a) Biofortification (b) Totipotency

(c¢) Embryoculture (d) Plantlet culture 1
5. Inrecombinant DNA technique the term vectorrefersto

(a) Plasmidthat can cut DNA at specific base sequence

(b) Plasmid that can transfer the foreign DNA intoaliving cell

(¢) Enzymethatcanjointhedifferent DNA fragments

(d) Alloftheabove ]

Part-B | : 7x2=14
Each question carries two marks :

6. Bt toxin is produced by bacteria Bacillus thuringiensis but it does not kill the bacteria itself.

Why isitso? ' 2
7.  Briefly discuss the role of women in protection and conservation of forest. 2
8. Drawalabelled diagram for structure of sperm. 2
or
Fillinthe blanks :
The process of maturation of spermatid into spermatozoais called ................ whereas the process
of release of mature spermatozoa into cavity of seminiferous tubules is called ............ e 2

054/C-SS



10.

 § 3

12.

13.

14.

15.

l6l

17.

18,

(13)

Why did Mendel select pea plant for his experimentation ? 2

12

What s central dogma of flow of information ?

Write down any two points of difference between active and passive immunity. 2
What are methanogens ? Give an example. 2
Part-C 9x3=27

Each question carries three marks :

Briefly write about Gene gun method and microinjection method for introduction of alien DNA

into host cell. ' 3

What is gene therapy ? Illustrate using the example of adenosine deaminase deficiency. 3

State and explain Gause’s competitive exclusion principle. 3
or

Briefly write about

Catalytic Converter

Radioactive Waste ' 3

Expand MTP. Which time period of pregnancy is considered safe to perform MTP ? What is its

importance ? 1+1+1

Define aneuploidy. Name the aneuploid diseases which occur as a result of following

chromosomal abnormalities :
(i) Trisomy of 21st chromosome.

(ii) Presence of additional copy of chromosome X (i.e. XXY). 3

Discussithe nature of genetic code. 3
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(14)

19. Whatismeantby connecting link ? Give an example.

or
State and explain Hardy-Weinberg principle. | 3
20. Whatisapiculture ? How is it important in our lives ? 3
21. What are biofertilizers ? Why are biofertilizers preferred over chemical fertilizers ? 3
Part-D 3x3=9

Each question carries three marks :
22. Givethe diagrammatic representation of carbon cycle in biosphere. 3

23. Observe the diagram given below.and answer the following questions :

Chalazalend

Micropylarend
(a) Whatdoesthis diagram depict ? ' 1
(b) . LabelthepartsA, B, CandDinthis diagram. 4xYo=2
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(15)

24. Observethe picture shown below and answer the following questions :

(a) Identifythediseaseshown inthisdiagram.
(b) Write the name of causative agent and mode of transmission of this disease. 3

Part-E 3x5=15

Each question carries five marks :

25. Whatis ecological succession ? Explain various events that occur during ecological succession
taking example of succession in a hydrosere. ' 2+3
or
What is the importance of biodiversity ? 5
26. What do you mean by monosporic development of female gametophyte ? Explain the
development of female gametophyte with help of suitable diagrams. 1+4
or
What is menstrual cycle ? Name the term used for first occurrence of menstruation. Explain the
major events of menstrual cycle in human female. I+1+43
27. Define transcription. In which phase of cell cycle does transcription occur in Eukaryotes ?
Describe briefly the process of transcription. . 1+143
or
(a) Whatis founder effect ?
(b) Givemorphological evidences in favour of evolution. . 3
054/C-SS
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